INTERNAL DATA STORAGE





Internally, computers use the binary numbering system to represent the numeric values that humans represent using the decimal numbering system.





Where decimal is a base ten numbering system and hexadecimal is a base 16, binary is a base two numbering system.





The base two numbering system is a natural choice for the computer circuitry with two possible options of ‘on’ and ‘off’.





The word ‘bit’ is a contraction of ‘binary digit’ meaning a digit that can take one of the two values: ‘1’ or ‘0’.





The smallest addressable unit of computer storage is termed a byte.





A byte is equivalent to one character be that a letter, number, or special character such as  $ (dollar sign),  & (ampersand),  # (number).





Each byte is made up of 8 binary digits.  An example is  1001 0110  which is hexadecimal 96 or decimal 150 or a small ‘oh’.





4 bits  = half byte or ‘nibble’


8 bits  = byte


16 bits = 2 bytes = half word


32 bits = 4 bytes = word





Each byte is represented internally as two hexadecimal digits.





The hexadecimal numbering system is used to express binary values in a concise, condensed, ‘shorthand’ form.





